
No. of Printed Pages : 4 	 FBMD-052  

DIPLOMA IN VOCATIONAL 
in  REHABILITATION (MENTAL RETARDATION) 
O 	 (DVRMR) 
O 

Term-End Examination 

December, 2012 

BMD-052 : SCIENCE AND TECHNOLOGY 
APPLIED TO VOCATIONAL TRAINING 

Time : 3 Hours 	 Maximum Marks : 50 

Note : All questions are compulsory. Marks are alloted against 

each question. 

	

1. 	Explain the following terminology : 	 1x5=5 
(a) Define science. 

(b) Engineering 

(c) Projection 

(d) What is Task analysis ? 

(e) Importance of Vocational training 

	

2. 	Answer the following questions in one or two 

sentences. 	 2x5=10 
(a) What is open workshop ? 

(b) Define vocational training. 

(c) Define fixtures. 

(d) What do you mean by spatial barrier ? 

(e) Define Information Technology. 
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3. 	Write short notes on any five : 	 5x5=25 

(a) Importance of environmental restructuring 
in working environment. 

(b) Principles of motion economy. 

(c) Sheltered workshop. 

(d) Properties of metal. 

(e) Uses of fixtures. 

(f) Process of developing jigs and fixture 
design. 

4. 	Long answer (any one ) : 	 10x1=10 

(a) What do you understand by pricing ? What 
are the steps that might be followed for 
developing the pricing of a new product ? 

(b) Define ergonomics. Explain various 
principles of ergonomics. 

(c) What is engineering drawing ? Describe the 
various elements of engineering drawing. 
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